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PART - 111
senflefl Lwesrun@&st /, COMPUTER APPLICATIONS
(BB wHmbd hde eyl / Tamil & English Version)

[ Qurgs wHibuaser : 70
[ Maximum Marks : 70

ST ieTa] : 3.00 wenfl CHrw |
Time Allowed : 3.00 Hours ]

oMleyenrsst : (1) Sioadg olersseEpd sAuTsu ufaurd o dTeTET CTETLSMETE
sfurisgé Qarararan. <Fsiufeaiad Gopull@ulea, @Ds
samsrafiiurerfiiLb o L angwrsd Ogflelésaw.
@ Beod odegy smUy owlea  WLLEGWL TP UBDGWD,
21 5GsMEHausn@Gh Lweaudss Caiam@Bib. UL RBI&SET euenTausm @
Quenéled LwaTLI(HSSE]LD.

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of fairness,
inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.

u@d - 1/PART -1
GOy : () Sevarsg dlamssensEh o waflése]b. 15x1=15

(i) Qasr@ésuul’(erer mremE wrHm edeLsefed Blaab goHyeLw
AewLeows Csrpds®sss GRULGLa el wWaanyn Csrsg
ET(LPSELD.
Note : (i)  Answer all the questions.

(i) Choose the most appropriate answer from the given four alternatives and write-
the option code and the corresponding answer.
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POST -e1 @9 fleum&asd :

(<) Power on Self Test (<@},) Post on Self Test

(@) Power on Self Text (rr) Power on Software Test
The expansion of POST is :

(@) Power on Self Test (b) Post on Self Test

(¢) Power on Self Text (d) Power on Software Test

270 eTamug) aTend GHISEGWD ?

(<=1) éjl‘_Lﬂ' (Zeta) (<) Qg (Tera)
(®) &G (Kilo) (FF) S (Peta)
2740 is referred as :

(a) Zeta (b) Tera

(¢) Kilo (d) Peta

seflOQurPuier Herésrsasans Gamanss 2 sab CgTLi sTged gl ?

(<s1) SCSI port (<=,) USB port
(Q) VGA @lenentiime (fr) PS/2 port
Display devices are connected to the computer through :
(a) SCSI port (b) USB port
(c) VGA connector (d) PS/2 port

QwEs SenlILTaTg)

(1) Siewwiiy QuenGlummer (<) vwerum’{ GQwertlummer
(@) 2-usyemTd (FF)  euemGlummer

Operating System is a

(a) System Software (b) Application Software

(c) Component (d) Hardware

gearsdan AsTLsa580E Qsie LWaTLBL GN&ES ufl srell org) ?

(<31) Home (<24,) Ctrl+Home (@) End (FF) Ctrl+End
What is the shortcut key to go to the start of the document ? |
(a) Home (b) Ctrl+Home (c) End (d) Ctrl+End
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W Wer o i_cuenantd Glawed ergl ?
(1) e9flsmevsd (VisiCalc)

(<2p) eTéCevd (Excel)

(@) @ueén @ Gev srdd (OpenOffice Calc)
() Geomiiav 1-2-3 (Lotus 1-2-3)

Which is the first electronic spreadsheel ?

(a) VisiCalce

(b) - Excel

() OpenOffice Calc

(d) Lotus 1-2-3

Impress -6 eSlené&ss rlSlulfer Biigienus (extension) SILWITETLD &TEBTEYLD.

(<=4) .odb (<) .odp (@) .ood
Identify the extension of the Impress presentation.
(a) .odb (b) .odp (© -ood

Safari -euenew &a)rrsﬁlu_irrsmg.l WITFTed 2 (HeurssiuLrL gl ?
(=) ew&CrmemiL (Microsoft)

(<=3) @er (Google)

(@) dargev smruuGraern (Linux Corpn.)

(7) <gpluder (Apple)

Safari web browser was developed by :

(@) Microsoft

(b) Google
(c) Linux Corpn.
(d) Apple

Epsam_cupBled ergl sTell @I @G ?

() <hl> (<) <br> (@) <html>
Which one of the following is empty tag ?
@) <hl> (b) <br> (c) -~ <html>

UL igwelled @hpal Caupiul L REeDS Caipls®.

(1) <dh> () <tr> () <td>
Pick odd one from the list : i
(@) <dh> (b) <tr> (© <td>
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.ppt

.ppt

<th>

<th>
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11.

12.

13

14.

15.

HTML gauamg e g Popurges Qams Lweau@Bn L.

(e2) Img (<94) Image (@) Pic’ (fF) Picture
The tag used to insert an image in HTML :
(@) Imy (b)  Image (¢) Pic (d) Picture

G edrar fired Qgr@Huler wmh x -6 WAL :

var x =350+ 2 -200;

(<) 202 (2p) 152 (@) 352 (/) 102
In the below snippet, value of x is : ‘

var x =350+ 2 -200;

(@) 202 (b) 1562 (© 352 (d) 102

Qapper erg uwarmsE ésfsma Qewdeow GarRss QuEpLUTLLD
vweruBhdmg ?

(<=t) Prompt 2 enpwimied Quilly. (=) Alert 2 enpwim_ed QUi

(&) Display e eoywmed Quilly () Confirm 2 eowm_ed QUi

Which is mostly used to give a warning message to users ?

(a) Prompt Dialog Box (b) Alert Dialog Box
(c) Display Dialog Box (d) Confirm Dialog Box

#flwren Coieneud samlbge|er switch case sapilelmHg GeualGup eribs Fmbm
vweru(hb ? '
(<) Case (<=4,) Exit (@) Break (FF) Default

Which statement in switch case is used to exit the statement once the appropriate choice is
found ?

(a) Case (b) Exit (c) Break (d) Default

wzo gl flyorss Cwmf

(<2t) dlinQami (<=4) erifled

(@) s wellCam (r) E-seolenu
The first Tamil programming language is :

(a) Lippikar (b) Ezhil

(c)  Tamil Unicode (d) E-Kalappai
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@OoY : aevauGuend SppI efleanrasehs@ een waflsman. eflenr erem 24 -6
sL_Lmuwng eSewealldhsab, 6x2=12

Note : Answer any six questions. Question No. 24 is compulsory.

16. &ray ppib Heaud CapuddsIs.

Distinguish between data and information,

17. EPROM -& o_atem greneu ereucumm ifluumis ?

Which source is used to erase the content of a EPROM ?

18. Q& QUTmET DT GTANAT ? DFET umsEMET LI Igwal(Hs.

What is meant by Software ? List the types of Software.

19. maTeEDE SLlg TEIMTE GTremem ?

What is a Cell Pointer ?

20. Normal View upfl flm @OlLy cuenys.

Write short notes about “Normal View”.

21. CSS -enw HTML 2L e @enand@h Gurgl algeugsams 6er(pgis.
Write the general format of linking CSS with HTML.

22. JavaScript -éb 2 éTer QEwHaadlen S LeneT DDLU CT(LH&IS.

Write the syntax of functions in JavaScript.

23.  TSCII ereoimmed Grevien ?
What is TSCII ?

24, (—24),, 6Tt erammantipamer 1 -ar Byl srama|i.

Find 1’s Complement for the number (—24),,.
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GOty : ameaiCugnd p1 arss@EssE efeweflsseab. elanm erar 33 -85

Note :

25.

26.

275

28.

29,

30.

31,

32.

sLLmuwns ofeLwallsEsa)i. 6x3=18

Answer any six questions. Question No, 33 is compulsory.

gGaaub gpeap QeuaiuIi( srgabisEmen 6r(pg)s.

Name any three output devices.

grellen areneuts Qurmpss HeTCFwenu uamsILBSS5s.

Classify the microprocessor based on the size of the data.

b&THSISD LPHNID HELRHSS0-6E 2 drer CaumurBH&ser wreed ?

Differentiate copy and move.

OpenOffice - errLfled S euamenruie auflensser wHMmILD Gl;b(_i)\mrﬂmsesmm
ereueurmy Gamgsembd ?

In OpenOffice Writer, how do you insert rows and columns in a table ?
safluEurdl wpmbd eslGUS srgamseie LLGLESSILEWL CaucGaun Qués

SIMWLUIL&EET Wrened ?

What are the different Operating Systems used in computers and mobile devices ?

2 L UGS @Ligener <body> 2 drar gGsEuD (D LT SamMISMETL! LD TP
Explain any three attributes available with <body> tag ?

@ HTML spauemgdler, @ e-ariugdlew ereueurm o meré Qediweomd ?
How will you scroll the text in HTML document ?

LDL_&:(8) GTEDITED GTEHN ? BIFEN UENESET WITeney ?

What is called a loop and what are its types ?
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QeueNuiw ?

if (age>=18)

{1ert(“YOU - eligible to get Driving licence”);
a C

}

else

alert (“you

}

What message
snippet ?

if (age>=18)
{
alert (
}

else
alert(

}

are not eligible to get Driving licence”);

will be displayed, if the input for age is given as 18, for the following

“you are eligible to get Driving licence”);
“you are not eligible to get Driving licence”);

L@ - IV /PART - IV

GOy : DTS améaErsEn o wafléaea)b. 5x5=25
Note : Answer all the questions.
38, (=) em sefuQurbuder Sy UuemL urshisamers Qsefleurer efleréasLl UL SGIL 65
efleTs 55 ' :
. S|V
(=) AemGLTed @wés Sieidlar LoamEwmer ufiiysafld gCsaud BHS
udlisamer ellaTéGs.
(a) Explain the basic components of a computer with a neat diagram.
OR
(b) Explain any five versions of Windows Operating System.
35. (1) sefliQurd LweaLEsEILGUTE gHUEL LOGaD GDDRISET W ?

S0V F)
(=) Fill s Lemererw Lweru®gd 5, 10, 20, ...... , 2560 erenp eredr euflensenwwy
2 (HUM&@LD ul(penment Gﬁ]GITEB@&B. | 1
(a) What are the various crimes that happen while using computer ?
OR
(b) Write the steps to generate the following series using Fill command. |
B, 10,20, s0seer 2060 Y wdie | : L.
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36.

37.

38.

(=) 1 apsd 10 eramamar Qaualli® Qeleugparear gmeur evdl UL Flyene WLEEG
sgapepl) LwaTuhGH eT(pg!.
S|V G
(<) @l Lflé uEs @rismer LTHHID oGy aifismen upHl eileul.
() Write a JavaScript program using loop statement to display the numbers from 1 to 10.
OR
(b) Explain the different methods to change margin in writer.

(=) m&TQsweluder LTLS Fmpisemer afleTésEs.

360605
(<) Qeverniu 2 azaled Qe Caudmgwameuub, QFlwEsmL TggID uDH eflaurl.
(@) Explain the characteristics of a microprocessor.

OR
(b) Explain the do’s and don’ts of safe surfing on internet.

(<s1) JavaScript -é et @UISLG QswpGEHow uPH 5EHS TOSEEET_OLE
eflen&Es.
AV
(<) SpsTamib i Lauementenil 2 (heuTés g HTML Blred erpgis.

Class Boys Girls
VI 150 165
VII 146 151

(a) Explain about the Relational Operator in JavaScript with suitable example.
OR '
(b) Write a HTML code to create the following table.

Class Boys Girls
VI 150 165
VII 146 151
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